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QUESTION 1

A customer is planning to implement machine and user authentication on infrastructure with one Aruba 

Controller and a single ClearPass Server. 

What should the customer consider while designing this solution? (Select three.) 

A. The Windows User must log off, restart or disconnect their machine to initiate a machine authentication before the
cache expires. 

B. The machine authentication status is written in the Multi-master cache on the ClearPass Server for 24 hrs. 

C. Onboard must be used to install the Certificates on the personal devices to do the user and machine authentication. 

D. The Customer should enable Multi-Master Cache Survivability as the Aruba Controller will not cache the machine
state. 

E. Machine Authentication only uses EAP TLS, as such a PKI infrastructure should be in place for machine
authentication. 

F. The customer does not need to worry about Multi-Master Cache Survivability because the Controller will also cache
the machine state. 

Correct Answer: BCE 

 

QUESTION 2

A customer is looking to implement a Web-Based Health Check solution with the following requirements: 

for the HR user\\'s client devices, check if a USB stick is mounted. 

for the RandD user\\'s client devices, check if the hard disk is fully encrypted. 

The Web-Based Health Check service has been configured but the customer it is not sure how to design 

the Profile Policy. 

How can be accomplished this customer request? 

A. create two Posture Policies and customize the OnGuard Agent (Persistent or Dissolvable) to select the correct SHV
checks 

B. create one Posture Policy and define Rules Conditions that will apply different Tokens for each SHV check condition 

C. create two Posture Policies and use the Restrict by Roles option to filter for HR and RandD user roles and apply the
correct SHV checks 

D. create one Posture Policy to check the HR users client devices and use the NAP Agent to check RandD users client
devices 

Correct Answer: A 
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QUESTION 3

Refer to the exhibit: 
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A customer has configured the Aruba Controller for administrative authentication using ClearPass as a TACACS server.
During testing, the read-only user is getting the root access role. What could be a possible reason for this behavior?
(Select two.) 

A. The Controllers Admin Authentication Options Default role is mapped to toot. 

B. The ClearPass user role associated to the read-only user is wrong 

C. The Controller Server Group Match Rules are changing the user role 

D. The read-only enforcement profile is mapped to the root role 

E. On the Controller, the TACAC$ authentication server Is not configured for Session authorization 

Correct Answer: CE 

 

QUESTION 4

Refer to the exhibit: A customer has configured a Guest Self registration page for their Cisco Wireless network with the
settings shown. What should be changed in order to successfully authenticate guests users? 
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A. Secure Login should use HTTP 

B. Change the Vendor Settings to Airespace Networks 

C. Change \he IP Address to the Cisco Controller DNS name 
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D. Login Method should be Controller-initiated - using HTTPs form submit 

Correct Answer: C 

 

QUESTION 5

A corporate ClearPass Cluster with two servers located at a single site, has both Management and Data port IP
addresses configured. The Management port IPs are in the DataCenter networks subnet, while the Data port IPs are in
the DMZ. What is the difference between using one Virtual IP for the AAA traffic versus sending AAA requests to the
physical IPs for each server? (Select two.) 

A. The failover can be accomplished only by using Virtual IP. 

B. The Individual IPs can provide failover and load balancing. 

C. One Virtual IP can be used together with the individual server IPs for load balancing. 

D. By using the Virtual IP, the failover convergence is faster than using individual server IPs. 

E. Using the one Virtual IP can provide failover and load balancing. 

Correct Answer: BE 
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